run_13085008 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Sun Mar 25 04:14:32 2012

[ADC for FGT RDO=1,ARM=0,APV=0 }

1000

2000

[ADC for FGT RDO=1,ARM=0,APV=1 }

3000

4000
raw ADC

~

i
0 1000

000

[ADC for FGT RDO=1LARM=0,APV=2 }
|

3000 4000

raw ADC

1000 2000

[ADC for FGT RDO=1,ARM=0,APV=3 }

3000 4000
raw ADC

0 1000 2000

[ADC for FGT RDO=1,ARM=0,APV=4 }

3000

4000
raw ADC

1000

2000

3000 40(

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=0_}

o 4000 p—
2 =
o =

g 3500 fm— v e e e e .|
i =

3000 fm—-viiannns . .
=

2500 fm— s nm e e .
=

2000 fm— s s e e o
=

1500 fm— v v e e e man et .

I -
=
=

500 fpm—--ceanann ..
=
=

0 === B

= i R ; : : :
0 20 20 - i i i
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=1 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 ==
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
g =
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... . s Rl B

10

10

10

10°

10°




run_13085008 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Sun Mar 25 04:16:59 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

i i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

APV channel




run_13085008 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Sun Mar 25 04:17:33 2012

[ADC RMS for RDO=1,ARM=0,APV=0_ J

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=1 "}

{117 | F——ooaannnaaannnnaann R aaRRBEAaRA 68 A6RABE A6 SERA B0 6660 A0088AAABEAAAA S AA AR SEAaH FBEAAARSEA6RERE 806608660 6688A0 68 AAAA SH AR AR SEAAAASEAAAR 66 AAAEREAanaE6

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=2 "}

= B
Bl —
g 100 b
8 :
< =
® L
= [ml
H 80 |+
60 |
40 .
20 |- B
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ADC RMS for RDO=1,ARM=0,APV=3__}
g 100 frr=ereeren oo P ECEBCoRaEEEaRNEECEa S R L R R epaeaas
S = : :
(o] —
a E
2 — : : : : : .
y @ |gE=cocoseoec0sea0000q SIECELLELELLILELELECEEL Pocecasesancosslfiecsad pecedfieosceanacacacond T R i Pifposesoseeecacirpaced eXELE
2 : : : : : :
['3

60

40

20

i i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=4 "}

120 |-

100 f

RMS (ADC-ped)

80 |+
60 [r

—
40
M

20

0 20 40 60 80 100 120
APV channel




run_13085008 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Sun Mar 25 04:14:37 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

-ped

Al

10?

1000 2000

[ADC for FGT RDO=1,ARM=0,APV=6 }

3000

4000
raw ADC

0 1000 2000

[ADC for FGT RDO=1LARM=0,APV=7 }
|

3000 4000

raw ADC

1000 2000

[ADC for FGT RDO=1,ARM=0,APV=8 }

3000

raw ADC

1000 2000

[ADC for FGT RDO=1,ARM=0,APV=9 |

3000

4000
raw ADC

2000

1000

3000 40(

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 fF=—
< =
3000 f=—
=
2500 f=——
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 ==
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— - -«

% =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
oE—-
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. i . L e

10

10°

10

10°

10




run_13085008 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Sun Mar 25 04:17:00 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13085008 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Sun Mar 25 04:17:34 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

= 120 fF—
3 —
e =
18] T
=]
< 100 (H
%] O
z .
& u
80 [
i
60 [-
40 |
20 |- - -
0 1 1 1 1 1 1 1
0 20 20 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=6 }

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=7 }

RMS (ADC-ped)

i
120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=8__}

3 140 p—

(& —

8 =

< 120 f—

g P=

= 100 f—
—

80

ﬁl LI

60

[ECOOIXKI]

g
—

]

40 p—

20

0
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

RMS (ADC-ped)

APV channel




run_13085008 FGT_ ADC 1,Timebin=2,Disc=1,asmb=1AB

Sun Mar 25 04:14:41 2012

ADC for FGT RDO=1ARM=0,APV=12 _§

3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=0.APV=13 |

1000 2000 3000 40(

raw ADC

ADC for FGT RDO=LARM=0,APV=14 _§
—

1000 2000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=15

0 1000 2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=0.APV=16 _§

3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=12_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r!1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=13 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—|- - -
% =
3000 f=—|- - -
=
2500 f=—|- - -
=
2000 f=——|- - -
=
1500 f=——|- - -
1000 p=——|- - -
=
500 :-:— o
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500
<

3000

2500

2000

1500

1000

500

0

°1|r|]1r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel

. .y e e

10

10

10°

10

10




run_13085008 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Sun Mar 25 04:17:01 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13085008 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sun Mar 25 04:17:35 2012

[ADC RMS for RDO=1,ARM=0,APV=12__}

RMS (ADC-ped)

140

120

100 P
80

60 |-

20

0

20 [

i
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=13 "}

RMS (ADC-ped)

140

120

100

80 |

60

40 |t

20

[ ADC RMS for RDO=1,ARM=0,APV=14 "}

RMS (ADC-ped)

160

140

120

100

80

60

40

20

0

nj_||]1ll|ll

TTTTTTTITT

=
.i_
0

APV channel

[CADC RMS for RDO=1,ARM=0,APV=15__}

RMS (ADC-ped)

160

140

120

100

80

60

40

20

0

i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=16 }

RMS (ADC-ped)

200

180

160

140

120

100

80

60

40

20
0

Rl -H'I]HT|1II[I'I1|

APV channel




run_13085008 FGT_ ADC 1,Timebin=2,Disc=1,asmb=1AB

Sun Mar 25 04:14:46 2012

[ ADC for FGT RDO=1,ARM=0,APV=17 |

Agoped

10?

1000

2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1.ARM=0.APV=18 |

l= [Feopococospooooogoooooonoooo0
°
Q
@o°
a
<
10?
10
! 7
0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1.ARM=0.APV=19 |
—

-ped

Al
S

3000 4000

1000 2000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=20 |
5

3

[

0
<

10?

10

1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=21 _§

i
2000

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=18 "}

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=19 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 =t - - - - -
< =
3000 - - - - - - -
=
2500 = - - - - - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—----- -
=
500 =« e - - e e
=
[ = S
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=20 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=21 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

B0 .. .. .. mEn

APV channel

10°

10°

10°

10

10




run_13085008 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Sun Mar 25 04:17:02 2012

[ADC MPV for RDO=1,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=19 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=21 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13085008 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sun Mar 25 04:17:36 2012

[ADC RMS for RDO=1,ARM=0,APV=17 _}

140 |

120

RMS (ADC-ped)

100 p—
80 _:_
60
40 '

20 =

0
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=18 "}

120 f
=

100

RMS (ADC-ped)

80 [r
60 |-

40

20 [

[ ADC RMS for RDO=1,ARM=0,APV=19 |

120 f——

RMS (ADC-ped)

h—
100 -
h—

80

60

40

20

SATTHTHTTT

i i i i
20 40 60 80 100 120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=20 _}

5 100

5] h—

i h—

4} 5

8 —

& BOF—py -ttt e
= o

x —

60 -1 A B R & AR i A

a0 f—---Hee b i -
h—
20 p—
ol i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=21 "}

RMS (ADC-ped)

APV channel




run_13085008 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Sun Mar 25 04:14:50 2012

[ADC for FGT RDO=1,ARM=1,APV=0 } [ ADC for FGT RDO=1,ARM=1,APV=0 |

= 4000 p—
5] =
i =
Q 3500 f=— - -
< =
3000 f=—— - -
=
2500 = - - 10
=
2000 f=— - -
=
1500 f=—— - -
1000 f=—- - a
=
500 fp— - -
=
=
=
= i i i i i i 10"
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=1 } [ ADC for FGT RDO=1,ARM=1,APV=1 }
- 4000 p—
g = 2 2 2 2 2 2
; = 2
9 3500 fm— - q- s e e 10
< =
3000 - q- e rnn e
2500 e - qm s n e e
2000 fm— - - f- - s - 10
=
1500 = v s qm e e
=
1000 P v s e e e
=
500 fm— 1
=
0
. i
0 1000 2000 3000 4000 120
raw ADC APV channel
[ADC for FGT RDO=LARM=1APV=2 } [ ADC for FGT RDO=1,ARM=1,APV=2 }
L - 4000 p—=
3 g = . . . . . .
g g = 2 2 2 2 2 2
o Q 3500 f=—
< < =
3000 f=—
= 10
2500 =
10? =
2000 =
=
1500 f=——
= 1
10 1000 pP=——
=
500 f=—
=
=
= -1
H = i i i i i i 20
1000 2000 3000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=3 } [ ADC for FGT RDO=1,ARM=1,APV=3 |
!
- 4000 p—
5] = . .
o = 2
Q 3500 F=— .-
< =
3000 f=— -
= 10
2500 = .-
2000 f=— .-
=
1500 f=—— .-
= . 1
1000 o s e e b EE e
= 2
500 s e e ey e
= 2
Of—= e A
= B 1
| = i 10
1000 000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=4 } [ ADC for FGT RDO=1,ARM=1,APV=4 "}
L .- 4000 p—
3 ] =
= & = 2
0 9 3500 f=— 10
< < =
3000 fm=—
2500 [=—
102 =
2000 fm—— 10
=
1500 f=—
=
10 1000 p=——
=
500 fp—— 1
=
==
E_. . . i i i i i . . . i .
1000 2000 3000 40 0 20 40 60 80 100 120

raw ADC

APV channel



run_13085008 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Sun Mar 25 04:17:03 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

APV channel




run_13085008 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Sun Mar 25 04:17:38 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

140

120 |

RMS (ADC-ped)

100

80 [

60

40

20

°'I'H|11'I'|'HI

i
120
APV channel

0

[ ADC RMS for RDO=1,ARM=1,APV=1 }
140

RMS (ADC-ped)

[—
—

120 f—
100 p——
80 [
60
40

20

°'H1'|'I'H|1'I'

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=2 "}
160

140 p—

RMS (ADC-ped)

120

100

80

60

40 p—

20

N N i
20 40 60 80 100 120
APV channel

0

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

RMS (ADC-ped)

i
120
APV channel




run_13085008 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Sun Mar 25 04:14:55 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

iIsc=

2,D

In=

imeb

Sun_Mar 2_5 04

run_13085008_FGT_MPV_1,T

17:05 2012

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13085008 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Sun Mar 25 04:17:39 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13085008 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB

Sun Mar 25 04:14:57 2012

[ ADC for FGT RDO=1,ARM=1,APV=12 |

[ 1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1ARM=1.APV=13 ]

-
°
[

0
<
10

10

0 1000 2000 3000 4000
raw ADC

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

-ped

Al
)

1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=15

-ped

Al
=)

10

1000 2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=1.APV=16 _§

-ped

Al

3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
g =
Q 3500 f=—
< =
3000 f=—
=
2500 f=—
2000 f=——
=
1500 f=——
1000 E._
500 E—
b=
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
= 4000 p—
g = o o o o o
9 3500 f=—|- - -
< =
3000 f=—|- - -
2500 fo— |- - -
2000 fm=—|- - -
1500 E— .
1000 E— .
500 |- - -
0
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
= 4000
g o o o o o 5
[} 3500
o
<

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

20 40 60 80
APV channel

[[ADC for FGT RDO=1,ARM=1,APV=15_}
= 4000 p—
g = . 8 8
Q 3500 f=—
< =
3000 f=—
2500 =
2000 [E—
=
1500 f=——
1000 E._
00 [E—
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
= 4000
Q 3500 L EEEEELELLE 2o
<

3000

2500

2000

1500

1000

500

0

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

. s . el R

10

10

10

10

10




run_13085008 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 25 04:17:05 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13085008 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sun Mar 25 04:17:39 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

RMS (ADC-ped)

140 —

120 [+

100

80

60 [+
40 [+

20 =

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

RMS (ADC-ped)

140

120 f—
=

100 p—

80

60 |

40

20

0

=
o
=
=
0

1
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

RMS (ADC-ped)

120 |-

100 |-

80

60 [

40 B

20 [

APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}

RMS (ADC-ped)

100

80

60

40

20

[ :
— A
b— .
[ L .
— H
[ 5
— 5
i i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=16 }

RMS (ADC-ped)

APV channel




run_13085008 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 25 04:15:01 2012

ADC for FGT RDO=1ARM=LAPV=17 _§

k=1
@
5
[8)
20
10

10

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=1APV=18 _§

Ag(}ped

0 1000 2000 3000 4000

raw ADC

[L_AoC for FoT RDO=1.ARM=1.APV=10 _§
—

0 1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=20

-ped

Al
S

0 1000 2000 3000 4000

raw ADC

[__ADC for FGT RDO=1ARM=1APV=21 _}

3000 40(
raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

Py
lw)
O
|
p=
X
<
|

[ ADC for FGT

p=
T
<]
11
=)
|
b

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=19 }

1
120
APV channel

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=r— |- = - - - - - ..
< =
3000 f=—|- - - - - - - ..
=
2500 f=—1- - - - - - - .-
=
2000 = PR
=
1500 =+ - - - - - - .-
1000 p=—|- - --- - - .-
=
500 f=— e - - - ve s ..
=
oE =
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
5] = 5
o = 2
Q 3500 FE—1- {1 aoafbacadbdfoses .
< =
3000 f/—|-{-{-- - PR R B . dboooo
2500 fp=—y-{-{- -1 - PR R 1 P dooas
2000 p/—|-{-1- -+ - R A Y P B
=
1500 f—|-{-1- -t - soobacadbdlanco .
1000 P=—|- - {- -t -r--- - dqe b - e
= 2
= 2
500 =t~ - 4= - or e es e p e e e
= 2
[0 e i B R S IR RS R R B B e
= 2
= i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. i .o e e

10

10°

10°

10

10




run_13085008 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Mar 25 04:17:06 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13085008 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sun Mar 25 04:17:40 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

120

RMS (ADC-ped)

100

80

60

O XECON]

40

20

0—r|1-|-|-|'|-

L i i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

160

g =
& =
—
a BT L B B ] B R
< —
]
= 120
x

100

80

60

40

20

°'I'IT[THITH|I

0
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }

140

120

RMS (ADC-ped)

100

80

60

40

20

0

BT I AT EITATTT

APV channel

[ADC RMS for RDO=1,ARM=LAPV=20 _}

140

120

RMS (ADC-ped)

100

80

60

40

20

g i

i
120
APV channel

0

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

= 160
]
&
Q
Q 140 p—
)
@ .
= 120 L=
o £
100 |
80
g B L=ttt H S T AT oceorl{[iboosc [pheol o

40

= : : : : 5 :
20 : 5 5 : Ry Pooooaoa

0

i . . .
100 120
APV channel




run_13085008 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Mar 25 04:15:06 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

-
°
i

0
<
10*

10

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

-ped

Al

10*

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=3 }

-ped

Al

10

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

0 1000

2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

4000

o =
5] = .
o = :
Q 3500 |- - {1 f - EESE B EYERE | EPEEER] | PRy PR PP
< =
3000 f=—|- - 91 f - - 1 SEEE B B EEE | EEE EERY 1 SRR EE R
= 10
=
2500 =g+ - 1=t - o50i|e|iepe=qppagecs|fizooenafecfpeossese
= .
2000 f=t—|- - 4= 1< f -0 - 1 SEEE B B EEE | EEE TR | SR pr R
= 8
1500 |- [« 4=t <} = - - - - B EEEE TR | e o .
1000 P=t—|- A= 41 -f - - - 1 EFEE B YRR £ EEEEER | DEEEETE P P
= 2
oy = I N FRE N A ) S S I
= 2 5
= . -
o BHE === s DL LS e e e
= 2 2 2 2 2 R 10"
= 1 1 1 1 1 1
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=1 }
H 4000 - - - - - - 2
Q 3500 [
< =
3000 [=
=
2500 | W
2000 |
=
1500 [
=
1000 [=
E 1
500 =
o
0
b= . . i . . . i . . i . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=2 "}
< 4000 |5 - - - - .
2 = a a a 5 10
Q 3500 f—+ - {-{-}-F-f -4k -t-
< =
3000 [l - {-{-}-F-f -2k -t-
2500 fof—- - {-1-}-+-of -2 {--F -0 e e -
= 10
2000 2o
=
1500 B 1-1-1-t-r- -} 1 S ELELE ==
1000 B - 1-1-f-r-F 40 ==
=
= 1
500 - {- - p el b e alhs
=
o -t S
s i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=3 }
- 4000 p—
5] = ,
& = 10
Q 3500 F= -
< =
3000 = |- 1~
2500 = - 1-
= 10
2000 ="~ 1~
=
1500 = -
1000 P=— - 4 -
=
= 1
500 f=— |- 1+
=
o E—HE
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=2,APV=4 l
- 4000 p - - - - -
o =
9 3500 |- - - - - - - N EEEET EEE B LR RS T o T R EEEEE
< =
000 - -0 - - N EEEET EEE) B LR RS T o T R EEEEE
s H H 10
2500 - - - - - - dbacacloac|ldbadpdescdca bdbosas o
rm
2000 |- - - - - - | R EETY 1 T RS R N B . R
=
1500 pH—|- - - - - - - H EEEEE EEEY B O R e T
- 1
i=.
1000 P - == - - H SEEET CET) B T TR e o T Syeeees R R
=
500 pH—|- - - - - - - [ SEEEY CEE) B T RS E o Tpeesee
=
OB T U711 . T T N . 10"
;=1 N . . . . i . i . i . i . . i .
0

APV channel




run_13085008 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 25 04:17:07 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13085008 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 25 04:17:41 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

180

160

140

120

100

80

60

40

20

0

'I'I1]IIIII"'I

SJ-CEEERNIII0CCEERNTD

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

180

160

140 |

120

100 |

80

60

40

20

0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

RMS (ADC-ped)

180

160

140

120 p—0

100

80

60

40

20

0

i
120

APV channel

RMS (ADC-ped)

180 =

160

140 =

120 =

100

80

60

40

20

0

SHEEEEET IH-I-I-I'I'IIIII

T 'ui_llllllll

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

180

160 f=

140 =

120 =

100 B
80
60

40 =

20

0

120
APV channel




run_13085008 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Mar 25 04:15:10 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

-ped

Al

10?

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=6 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=2,APV=7 }

1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=8 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=9 }

-
°
[

©
<
10

10

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }
4000

3500

ADC-ped

3000
2500

2000

1500

1000

500

22 .

0

© AR R R A

N
NE-.

APV channel

[ ADC for FGT RDO=1,ARM=2,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=——
=
1000 f=—
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=7 }

- 4000 p—=
] =
o =
Q 3500 =+ - -
< =
3000 = - -
=
2500 f=—r - -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r- -
=
o
=
APV channel
[ADC for FGT RDO=1,ARM=2,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. . . el B

10

10

10°

10°

10°




run_13085008 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 25 04:17:08 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13085008 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 25 04:17:42 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

RMS (ADC-ped)

180 p=

160

140

120 =

100

80
60 p——
20 =

20 =

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=6 }

RMS (ADC-ped)

120

100

80

60

40

20

'|'HI]'I‘H]'I'H]'I;I_’_'LJH'I' 11T

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=7 }

RMS (ADC-ped)

160

140

120

100

80

60

40

20

[TT HIIIII

[EEE]

0

N N i
0 120
APV channel

[CADC RMS for RDO=1,ARM=2,APV=8__}

RMS (ADC-ped)

160 f—

140

120

100

80

60

40

20 |5

0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

RMS (ADC-ped)

140

120

100

80

60

40

20

T I‘.1"TII]'I'I'I

APV channel




run_13085008 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3AB
Sun Mar 25 04:15:15 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13085008 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Sun Mar 25 04:17:10 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13085008 FGT _RMS 1,Timebin=2,Disc=3,asmb=3AB
Sun Mar 25 04:17:43 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13085008 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3AB
Sun Mar 25 04:15:16 2012

[ ADC for FGT RDO=1,ARM=2,APV=17 |

-ped

Al

10°

1000 2000 3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=2.APV=18 |

-
°
i

0
<
10

10

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=LARM=2,APV=19
—

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=20

1000 2000 3000 4000
raw ADC

[__ADC for FGT RDO=1ARM=2,APV=21 _}

3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=2,APV=17_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=2,APV=18 }

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=19 }
4000

" 1
80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

LA L8 LA LA LA A A R0 il

[[ADC for FGT RDO=1,ARM=2,APV=20 }
4000

80 100 120
APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© T AT TR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=21 }

40

80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
ke
=
ke
=
=
1500 [
=
rm:
=
=
=
=
=
0

APV channel

... . . .0

10

10

10°

10

10




run_13085008 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Sun Mar 25 04:17:10 2012

[ADC MPV for RDO=1ARM=2,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=18 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=21 "}

MPV (ADC-ped)

1500 |+

1000 [+

-500

-
Q

20 a0 0 a0 100 120
APV channel




run_13085008 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sun Mar 25 04:17:43 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

RMS (ADC-ped)

240
220
200
180
160
140
120
100
80
60
40
20
0

i

SR P P P P F P F PP E

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

RMS (ADC-ped)

180

160

140

120

100

80

60

40

20

0

II

P TFERECEILY

°'I11]|II[I'I'I]1II|T

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=19 |

RMS (ADC-ped)

200

180

160

140

120 |

100

80 [
60

40

20

0

i H'I1||H1|

i
120
APV channel

[ADC RMS for RDO=1,ARM=2,APV=20 _}

RMS (ADC-ped)

200 P=
180 =

160

140 [=

120
100

80

60 |

40

20 [

0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

RMS (ADC-ped)

220 P/

200
180
160
140
120
100
80
60
40
20
0

T

APV channel




run_13085008 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 25 04:15:21 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=1 } [ ADC for FGT RDO=1,ARM=3,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=3,APV=2 } [ ADC for FGT RDO=1,ARM=3,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 } [ ADC for FGT RDO=1,ARM=3,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=3 APV=4 } [ ADC for FGT RDO=1,ARM=3,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




run_13085008 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Sun Mar 25 04:17:11 2012

[ADC MPV for RDO=1ARM=3,APV=0_}

1500 [+

MPV (ADC-ped)

1000 [5

500

i i
20 20 60 80 100 120

-500

[ ADC MPV for RDO=1,ARM=3,APV=1 }

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

500 fr—— - s .

-500

[ ADC MPV for RDO=1,ARM=3,APV=2 }

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3 APV=3 _}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13085008 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 25 04:17:45 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13085008 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Sun Mar 25 04:15:23 2012

[ADC for FGT RDO=1,ARM=3,APV=5 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=6 }

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=3,APV=7 }

-ped

Al
<

3000 4000
raw ADC

0 1000 2000

[ADC for FGT RDO=1,ARM=3,APV=8 }

-ped

Al
S

10?

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=3,APV=9 l

Aolioped

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=5_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

ofE—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f—
< =
3000 =
2500 =
=
2000 =
=
1500 f=
=
1000 =+
=
500 =
= 8
= =
=L, . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=7 }
4000

3500

ADC-ped

3000

2500

2000

1500
1000

500

0

APV channel

[[ADC for FGT RDO=1,ARM=3,APV=8_}

4000

3500

ADC-ped

3000

2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© A A A A

APV channel

. s L R

10°

10

10

10°

10




run_13085008 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 25 04:17:11 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13085008 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Sun Mar 25 04:17:45 2012

[CADC RMS for RDO=1,ARM=3,APV=5__}

RMS (ADC-ped)

100

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=6 }

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=7 }

RMS (ADC-ped)

60

50 [+

40

30

"I'I"HII|I

O-H'I-I'Illl‘l AT

20 7

10

i
120
APV channel

[CADC RMS for RDO=1,ARM=3,APV=8__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=9 "}

RMS (ADC-ped)

18
16
14 5
12
10

8 |

120

APV channel




run_13085008 FGT ADC 1,Timebin=2,Disc=4,asmb=4AB
Sun Mar 25 04:15:27 2012

[ ADC for FGT RDO=1,ARM=3,APV=12 |

[ 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=3,APV=13 _§

3000 40(
raw ADC

3000 4000
raw ADC

0 1000 2000

ADC for FGT RDO=1,ARM=3,APV=15

0 1000 2000 3000 4000
raw ADC

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=3,APV=12_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=3,APV=13

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=3,APV=14

1
40 60 80 100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— Sfee-
2 =
3000 f=— Sfee-
=
2500 = Stees
=
2000 = SELE
=
1500 f=— SELE
1000 f=— SELE
=
500 f=— afhzas
=
= Qe
= i i i i i i
20 20 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=3,APV=15
- 4000 p—
5] = . . .
oo =
Q 3500 f=— - -
< =
3000 f=—---
2500 fm— - - -
2000 f=—- - -
=
1500 f=— - - -
1000 f=—- - -
=
=
500 fp=—- - -
=
o e
=
=
0

[ ADC for FGT RDO=1,ARM=3,APV=16

4000

40 60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. 8 . . el .

10°

10°

10°

10

10°




run_13085008 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB
Sun Mar 25 04:17:12 2012

[ADC MPV for RDO=1ARM=3,APV=12_}

MPV (ADC-ped)

. . ;
Q 20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=3,APV=13 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=14 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

I
<G 20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13085008 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Mar 25 04:17:46 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

140

i l1'|'|'|'|'

120

RMS (ADC-ped)

100

iL Al A .

40::: [

80

-I-I-III Coooag

60

20

0

[ ADC RMS for RDO=1,ARM=3,APV=13 "}

100

80 [

RMS (ADC-ped)

60

40

20

°'IT1'[1'T'I'|'I'I'I'I'H

1 " " " 1
100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=14 "}

3 L)
2 T
8 80
<
0
2 70
'3
60
50

40

30 [

20

10

0

APV channel

= 100 =
i [

S z

(o] —

2 h—

o 80 17

s HH
['3 T

60

40

20

°'1'T'I'I'I'I'1' IREE R

i
120
APV channel

| ADC RMS for RDO=1,ARM=3,APV=16 }

90

80

70

RMS (ADC-ped)

60

50

40

30

20

10

. . . i . . . i
20 40 60 80 100 120
APV channel

N = R S S




run_13085008 FGT ADC 1,Timebin=2,Disc=4,asmb=4AB
Sun Mar 25 04:15:31 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=19 } I ADC for FGT RDO=1,ARM=3,APV=19 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=20 | [ ADC for FGT RDO=1,ARM=3,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=3.APV=21 _}| [ ADC for FGT RDO=1,ARM=3,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13085008 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Sun Mar 25 04:17:13 2012

[ADC MPV for RDO=1ARM=3,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=3,APV=18 '}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=3,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=21 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13085008 FGT _RMS 1,Timebin=2,Disc=4,asmb=4AB
Sun Mar 25 04:17:47 2012

[ADC RMS for RDO=1,ARM=3,APV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=19 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13085008 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sun Mar 25 04:15:33 2012

[ADC for FGT RDO=1,ARM=4,APV=0 }

-ped

Al
<

10?

[ 1000

2000 30

00 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=1 }

1000

2000 3000 40(
raw ADC

[ADC for FGT RDO=LARM=4APV=2 }

-ped

Al
)

1000

2000 3000 4000
raw ADC

[ADC

or FGT RDO=1,ARM=4,APV=3 l

-ped

Al
(=)

1000

2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=4 }

2000 3000 40(
raw ADC

[ ADC for FGT RDO=1,ARM=4,APV=0

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

APV channel

1
120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=1 }
- 4000 p—
A = :
8 3500 f=— |- == - te - e
< = :
3000 f=—f---1----- R P
2500 fm— - e e fannen
2000 fm— - - --t----- B
500 o SN P
31D | == doocollosss haoddaan
500 fm—
o e R
= . i
0 20
[ ADC for FGT RDO=1,ARM=4,APV=2 }
- 4000 py
g =
3’ 3500 E— N
< =
3000 EF— |- {-{--F-
H
2500 pF— - {-1--t-
zooog R ER N
1500 %— R ER N
1000 ff— |- {-{--}-
500 §— -t
= o
s i
20
[ADC for FGT RDO=1,ARM=4,APV=3 }
- 4000 p
&
Q 3500
<

3000

2500 f=

2000

1500

1000

500

0

80

120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=4

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

. . L .

10

10

10°

10°

10




run_13085008 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Sun Mar 25 04:17:13 2012

[ADC MPV for RDO=1ARM=4,APV=0_}

MPV (ADC-ped)

L i i i
20 40 60 80 100 120

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=1 }

MPV (ADC-ped)

-
1500 [
1000 [+

500 |+

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=2__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=4 "}

MPV (ADC-ped)

[
L—
1500 p—o
—
1000 f——
500 f—
I
—
0 f—r
500 = i . . . i . . . i . . . i . . . i . . . i
Q 20 a0 AN 20 100 120

APV channel




run_13085008 FGT_RMS 1,Timebin=2,Disc=5,asmb=5DA
Sun Mar 25 04:17:47 2012

[CADC RMS for RDO=1,ARM=4,APV=0_}

RMS (ADC-ped)

300

250

200

150

100

50

||||||||||||||||||1]1111]111

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=1 }

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=4,APV=2 "}

RMS (ADC-ped)

220 =
200 =—

180
160
140

120 B
=
100 f=
80 p=
=

60

40 =

20
0

il

120
APV channel

RMS (ADC-ped)

220 f—=

200

180 =
160 =

140
120
100
80
60
40
20
0

L LA L] A LiGha

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=4 "}

RMS (ADC-ped)

APV channel
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run_13085008 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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run_13085008 FGT_ ADC 1,Timebin=2,Disc=1,asmb=1BC
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run_13085008 FGT MPV_1,Timebin=2,Disc=1,asmb=1BC
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[CADC RMS for RDO=2,ARM=0,APV=0_ J

RMS (ADC-ped)

160
140
120
100
80
60
40

20 |

0

[ ADC RMS for RDO=2,ARM=0,APV=1 "}

RMS (ADC-ped)

140 =
120 :
100 [
80
oo [
40 |

20

0

1 " " " 1
100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=2 "}

RMS (ADC-ped)

140 f—
120 f—
100 [+
80
oo f
40 f

=
20

i
120

0

APV channel

[CADC RMS for RDO=2,ARM=0,APV=3__}

RMS (ADC-ped)

140

120

100

TTTTTT II1]'I'I

80

60

CECOOOIXN]

40

20

SHEEEHT

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=4 "}

RMS (ADC-ped)

20 40 60 80 100 120
APV channel




run_13085008 FGT_ ADC 1,Timebin=2,Disc=1,asmb=1BC
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run_13085008 FGT MPV_1,Timebin=2,Disc=1,asmb=1BC
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